Câu 1:  [2D4-4.4-4] (PTĐ Tốt Nghiệp - Năm 2020 - 2021) Gọi
[image: image1.wmf]S

 là tổng các số thực 
[image: image2.wmf]m

 thỏa mãn 
[image: image3.wmf]32

7161230

zzzmzm

-+--+=

 có nghiệm phức 
[image: image4.wmf]0

z

 thỏa mãn 
[image: image5.wmf]0

||2

z

=

. Tính 
[image: image6.wmf]S


A. 
[image: image7.wmf]24

.
B.  
[image: image8.wmf]25

.
C.  
[image: image9.wmf]18

.
D.  
[image: image10.wmf]16

.
Lời giải
Chọn D
Ta có 
[image: image11.wmf]32

7161230

zzzmzm

-+--+=Û



 EMBED Equation.DSMT4 [image: image12.wmf](

)

(

)

(

)

2

34401

zzzm

--+-=



[image: image13.wmf](

)

2

3

2

z

zm

=

é

Û

ê

-=

ê

ë


+ Với 
[image: image14.wmf]0

m

³

 
[image: image15.wmf](1)2

zm

Û=±



[image: image16.wmf]0

|2|2

||2

|2|2

m

z

m

é

+=

=Û

ê

-=

ê

ë

 
[image: image17.wmf]0

16

m

m

=

é

Û

ê

=

ë


+ Với 
[image: image18.wmf]0

m

<



 EMBED Equation.DSMT4 [image: image19.wmf](1)2

zim

Û=±-

. Do đó 
[image: image20.wmf]0

||4

zm

=-



[image: image21.wmf]0

||242

zm

=Û-=

 
[image: image22.wmf]440

mm

Û-=Û=

(Loại)

[image: image23.wmf]01616

S

=+=

.
Tài liệu được chia sẻ bởi Website VnTeach.Com

https://www.vnteach.com
_1720117014.unknown

_1720117018.unknown

_1720117022.unknown

_1720117024.unknown

_1720117026.unknown

_1720117028.unknown

_1720117029.unknown

_1720117027.unknown

_1720117025.unknown

_1720117023.unknown

_1720117020.unknown

_1720117021.unknown

_1720117019.unknown

_1720117016.unknown

_1720117017.unknown

_1720117015.unknown

_1720117010.unknown

_1720117012.unknown

_1720117013.unknown

_1720117011.unknown

_1720117008.unknown

_1720117009.unknown

_1720117007.unknown

